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| Find the derivative of each expression.
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| Find the tangent line equation of the curve at the given point.

11. y = arcsin(x) at the pomt where x = X 12. y = cos™!(4x) at the point where x = ?3

BT S

- 1 -
W W & e |—|¢(/SL \I- ‘iS\r

Ralhao) 79 4% =30 %)




13. y = arctan(3x?) at the point where x = E 14. y = sin1(5x) at the point where x = —‘i—z
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3.4 Differentiating Inverse Trig Functions Test Prep

17. Let g(x) = (arccos x?)°. Then g'(x) = S(COS.‘P()}))L\ .(__ | B. (l)t)
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arccos(a+h)-arccos(a) _ —3, which of the following could be the value of a?

h I \

'5'[7‘\:-(95'7( - —fj (o\)?-‘3-? ---——ﬂ__«‘__-”.? = - =4
1=

1 q-a\ﬂ'
®) : (© 3 D) 1 e

19. Ifarctany = Inx, then% = ‘ . aL‘j - |
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